Family Spot the Difference Answers

Read these conversation questions and answer them on our video forum.

1. In family 1, Betty has a son Robert. In family 2, Betty doesn’t have
a son.

2. In family 1, Vicky’s grandmother is called Katy. In family 2, Vicky’s
grandmother is called Sophia.

3. In family 1, Frank and Katy have two children- William and Betty.
In family 2, Frank and Sophie have three children- William, Oliver
and Betty.

4. In family 1, David doesn’t have a child. In family 2, David has a
daughter called Jane.

5. In family 1, Holly and Harry have three children called David,
Emma and Zoe. In family 2, the names are different- David, Frank
and Zoe.
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